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. (a) Express in 1 word : 1x3=3

(i) Potentials of a cell to produce the
whole organism

(i) Exchange of chromosomal parts

between two non-homologous.
chromosomes

(i) A DNA sequence formed by a
foreign DNA and g vector DNA

Contd.



(b) Choose the correct answer -

()

(@)

(iii)

1x3=¢

The size of an euka

ryotic ribosom
in Svedberg

unit is 608 / 80 |
708. .
A DNA segment Capable o 3.
changing its location within ¢
chromosome

or
chromosomes is called r

/ transition / transloca

betweel
ansposofl
tion,

€S in cytoplagmic
W 1dentjcg] results

(c) Sex chromosomes and Autosomes
(d) Autopolyploidy and Allopolyploidy

e

i i the fluid-mosaic
1 with diagram, .
DBZCT};’_; the structure of coll membionrfs
A ive an account for various functio
o a brane in living system. 5
of cell mem 4%
Or

i il di t types of RNAs

i n detail differen : :

Descgﬂe iln living system. Dlscus§+‘é}lc3116-
gtr:lfctures and functions.

(c) Fill in the blanks - 4. Write short notes on: (any three) 3x3=9

Pecies is cq)led (@

(b) Structure of polytene chromosome

gtructure and functions of ribosomes

(ii) Progenydeveloped from g; 1If (©)
fertiliseq h e

Omoz is Amphidiploid
called ' iR il () i

(e) Somatic hybridization

Embryoids

2. Distinguigh between the following pairs

Mendel’s third law, ‘the law of independ-ergt

assortment’ is not universa]. Substantlat:

the statement with the examples of comple1 ;
and incomplete linkage. 4+7=

S+8+3+3+4-16

ntd.
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Or

What do you mean by transition and
transversion ? Describe the mechanism of
transitional mutation at molecular level.

Also mention any four types of chemical
mutagens. 2+7:+2=11
Write short notes on - (any three) 4x3=12

(@) Nilsson-Ehles eéxperiment in kerne]
~ colour of wheat

(b) Inhibitory factors

(¢). Genic . 'balance theoryi lof ! sex
determination j

(d) Back-cross method of plant breeding
(¢) Cloning vectors :

mass selection and j

- Or
 Write €xplanatory noteg on :
(a) Mutatjon breeding-

ts uses, 2+3+8+2=15

(b) Dbminance and

OVer-dominance
hypotheseg of heterosis :

\
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